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u'?dGq Ps]8]dL 
lzIfs ;]jf cfof]u dfWolds tx sf] v'Nnf k|ltof]lutfTds gd'gf kl/Iff 

SET 3 
ldlt M @)&(.)&.@( 

KEY 'B' k"0ff+s M !)) 
ljifo M k|yd kq ;fdfGo kl/Iff  

j:t'ut ax'pQ/                   50×2=100 
 

!= u|x0f ;DaGwdf lgDglnlvt dWo] ;xL pQ/ s'g xf] < 

(A) ;"o{ / k[YjLsf] aLrdf rGb|df Pp6} l;wf /]vfdf k/]sf] k"l0f{dfsf] lbg rGb| u|x0f nfUb5 . 

(B) ;"o{ / rGb|dfsf] aLrdf k[YjL Pp6} l;wf /]vfdf k/]sf] cf}+;Lsf] lbg ;"o{u|x0f nfUb5 . 

(C) ;"o{, k[YjL / rGb|df Pp6} l;wf /]vfdf x'Fbf k[YjLsf] 5fofF rGb|dfdf kbf{ rGb|u|x0f x'G5 . 

(D) ;"o{, rGb|df / k[YjL Pp6} l;wf /]vfdf x'Fbf k[YjLsf] 5fofF ;"o{df kbf{ ;"o{u|x0f x'G5 . 

@= 7"nf] / rxlsnf] pNsfkftnfO{ s] elgG5 < 

(A) kmlnª :6f/ 

(B) ;'l6ª :6f/ 

(C) kmfo/ an 

(D) ;'l6ª an 

#= b]xfosf] s'g egfO{ ;To xf]Og\ < 

(A) dxfl4kLo k|jfx l;4fGt hd{gLsf cnk|m]8 j]ug/n] k|ltkfbg u/]sf x'g\ . 

(B) l/sfkLo ljjt{lgs l;4fGt;Fu ;DalGwt lj4fg x]l/ x];\ x'g\ . 

(C) Jofkfl/s jfo' e"dWo] /]vfdf kfOG5 . 

(D) dg;'gL jfo' u|Lid Ct'df hldgaf6 ;d'b|tkm{ axG5 . 

$= dfp06 s] 6' s'g >[ª\vnfdf kb{5 < 

(A) lzjflns 

(B) lxdf~rn 

(C) sf/fsf]/d 

(D) lxdfb|L 

%= lbOPsf] dWo] Ps j8f Ps x]lnKof8 agfpg k|:tfj ug]{ d'n'ssf] klxnf] :yfgLo tx s'g xf] < 

(A) dflnsf ufpFkflnsf 

(B) ljgfos ufFpkflnsf 

(C) ;"o{s'08 ufFpkflnsf 

(D) hnhnf ufpFkflnsf 

^= nf]Stfsf] lhNnf / emf]n'+u] k'nsf] lhNnf egL s'g lhNnfnfO{ lrlgG5 < 

(A) kj{t 

(B) DofUbL 

(C) d':tfª 

(D) afun'ª 

&= lnlDkofw'/f s] sf nflu k|l;4 5 < 

(A) hnljB't cfof]hgfsf nflu 

(B) ltAat;Fusf] Jofkfl/s dfu{sf nflu 

(C) kj{tf/f]x0fsf nflu 

(D) ef/t;Fusf] l;dfgf ljjfbsf nflu 
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*= /f0ffsfnLg k|zf;gdf d'lG;vfgfn] s] sfd uYof]{ < 

(A) /fh:j p7fpg] 

(B) k//fi6« dfldnf 

(C) lghfdtL sd{rf/Lsf] clen]v 

(D) n]vf k/LIf0f /fVg] 

(= P]ltxfl;s hgdt ;+u|x, @)#& df ax'bnLo zf;g Joj:yfsf] kIfdf sltj6f lhNnfaf6 ;'wfl/Psf] 

k~rfotL Joj:yfdf eGbf a9L dt k/]sf] lyof] < 

(A) %% 

(B) #% 

(C) @% 

(D) @) 

!)= g]kfn ;/sf/n] 8fFkm], ufO{, nfnLu'/fF; / l;ld|s /ªnfO{ /fli6«o lrGxsf ?kdf slxn] 3f]if0ff u/]sf] xf] < 

(A) @)@! c;f/ @) 

(B) @)@) c;f/ @) 

(C) @)!( kf}if ! 

(D) @)!( c;f/ @) 

!!= g]kfn ljZj Jofkf/ ;+u7gsf] ;b:o slxn] ePsf] xf] < 

(A) @$ dfr{ @))$ 

(B) @# clk|n @))$ 

(C) !! l8;]Da/ @))# 

(D) !* cui6 @))# 

!@= cfoft k|lt:yfkg / lgof{t k|j4{g ub} Jofkf/ 3f6f sd ug]{ p2]Zo;lxt ;/sf/n] gofF jfl0fHo gLlt slxn] 

;fj{hlgs u¥of] < 

(A) lj=;+= @)&@ >fj0f !^ 

(B) lj=;+= @)&@ >fj0f @^ 

(C) lj=;+= @)&@ efb| !^ 

(D) lj=;+= @)&@ efb| @^ 

!#= b]xfosf] s'g egfO a]7Ls 5 < 

(A) lg/k]If ul/aL wg, ;DklQsf] c;dfg ljt/0f;Fu ;DalGwt 5 . 

(B) ul/aL Pp6f k|fljlws cj:yf dfq geP/ ;du| /fhgLlts, ;fdflhs / cfly{s sfo{sf] kl/0ffd xf] . 

(C) hLjg u'hfg{sf nflu kof{Kt ef}lts, cfly{s tyf ;f+:s[lts ;|f]tx?sf] cefj g} ul/aL xf] . 

(D) lg/k]If ul/aL Go"gtd cfjZostf k"/f ug{ g;lsg] cj:yf;Fu ;DalGwt /x]sf] 5 . 

!$= k|l;4 j}1flgs cfls{ldl8hsf u'? sf] lyP < 

(A) Pl/:6f]6n 

(B) o'lSn8 

(C) Go'6g 

(D) sklg{s; 

!%= kfl/l:ylts lk/fld8df b]xfosf dWo] s'g s'/f x]l/b}g < 

(A) hLj lk08sf] lk/fld8 

(B) ;+Vofsf] lk/fld8 

(C) u'0fsf] lk/fld8 

(D) zlQmsf] lk/fld8 

!^= cGt/fli6«o >d ;+u7gsf] k|wfg sfof{no sxfF /x]sf] 5 < 

(A) /f]d, O6fnL 

(B) h]g]ef, :jL6\h/NofG8 

(C) k]l/;, k|mfG; 

(D) jfl;ª\6g 8L=;L=, cd]l/sf 

!&= cuf{lgs PS6 eg]sf] s] xf] < 

(A) ;+o'Qm /fHo cd]l/sfsf] /fi6««kltnfO{ ;'ljwf k|bfg ug]{ P]g 

(B) hd{gLdf hgtfnfO{ df}lns clwsf/sf] Joj:yf ug{ ag]sf] P]g 
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(C) k|mfG;df ;f+;bx?nfO{ ;'ljwf / ;+Vof tf]Sg ag]sf] P]g 

(D) a]nfotsL dxf/fgLnfO{ ;'ljwf k|bfg ug{ ag]sf] P]g 

!*= sf]/f]gf efO/; ;ª\qmd0f g]kfnsf && j6} lhNnfdf slxn] bvf k¥of] < 

(A) @)&& c;f/ !# 

(B) @)&& >fj0f !# 

(C) @)&& h]7 !# 

(D) @)&& efb| !# 

!(= g]kfn ;/sf/n] e"—pku|x gLlt, @)&& slxn] :jLs[t u¥of] < 

(A) @)&& c;f/ ! 

(B) @)&& c;f/ @ 

(C) @)&& c;f/ # 

(D) @)&& c;f/ $ 

@)= dfgj ljsf; ;"rsfª\s @)!( cg';f/ g]kfn slt cf}+ :yfgdf /x]sf] 5 < 

(A) !$& cf}+ :yfgdf 

(B) !$% cf}+ :yfgdf 

(C) !%) cf}+ :yfgdf 

(D) !%! cf}+ :yfgdf 

@!= cgf}krfl/s lzIff tyf ;fIf/ g]kfn cleofg sfo{qmd sfof{Gjog lgb]{lzsf dlGqkl/ifb\af6 slxn] 

:jLs[t eof] < 

(A) lj=;+= @)^& df3 $ 

(B) lj=;+= @)^* df3 $ 

(C) lj=;+= @)^( df3 $ 

(D) lj=;+= @)&) df3 $ 

@@= dgf]lj1fgnfO{ cfTdf, dg / r]tgfsf] lj1fg dfGg] k|of;nfO{ kl5Nnf lbgdf dfGotf gkfPkl5 lxhf]cfh 

o;nfO{ s'g ?kdf lnOG5 < 

(A) lrGtg / l;sfOsf] cWoog ug]{ lj1fg 

(B) cg'ej / Jojxf/sf] cWoog ug]{ lj1fg 

(C) Jojxf/sf] cWoog ug]{ lj1fg 

(D) dfgl;s k|lqmofsf] cWoog 

@#= klxn] l;s]sf] s'/fn] kl5 l;s]sf] s'/fnfO{ gsf/fTds c;/ kfb{5 eg] To:tf] l;sfOnfO{ s] elgG5 < 

(A) z'Go :yfgfGt/0f 

(B) ;sf/fTds pTk|]/0ff 

(C) gsf/fTds pTk|]/0ff 

(D) k|f]T;fxg pTk|]/0ff 

@$= lqmofk/s ;DaGw k|Tofjt{g l;sfOsf cfjZos cj:yfx?df ;Dang, p2Lks, ;fldKotf / cEof; 

cfjZjs 5 . o; sygnfO{ s'g rfFlx cj:yf o; l;4fGt÷l;sfO;Fu ;DalGwt 5}g\ < 

(A) ;Dang 

(B) p4Lks 

(C) ;fldKotf 

(D) cEof; 

@%= l;sfOsf] ;+1fgfTds l;4fGtsf] ;}4flGts cfwf/ s'gnfO{ dflgG5 < 

(A) jfG8'/fsf] ;fdflhs l;sfO l;4fGt 

(B) u]:6fN6 dgf]lj1fg 

(C) lzIff dgf]lj1fg 

(D) lkofh]sf] ljsf;fTds l;4fGt 

@^= kf7\oqmd ljsf; s]Gb|n] kf7\oqmd sfof{Gjog ePsf] slt jif{ k"/f ePkl5 kf7\oqmddf k'g/fjnf]sg u/L 

cfjZos b]lvPdf cfd'n ;'wf/ ub{5 < 

(A) ;fdfGotof % aif{ 

(B) x/]s !) jif{ k"/f ePkl5 

(C) ;fdfGotof !% jif{ 

(D) x/]s !@ jif{ k"/f ePkl5 
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@&= /fli6«o kf7\oqmd k|f?k -kl/dfhg{ @)&!_, @)^# cg';f/ kf7\oqmdsf] u'0ffTds, lqmofzLntf / sfof{Gjog 

sf] k|efjsfl/tfdf b]zsf] z}lIfs u'0f:t/df e/ kg]{ x'Fbf tnsf dWo] s'g lgsfosf] ;+:yfut Ifdtfn] 7"nf] 

e"ldsf v]Nb5 < 

(A) kf7\oqmd ljsf; s]Gb| 

(B) lzIff dGqfno 

(C) lzIff ljefu 

(D) :yfgLo lgsfo 

@*= b}lgs kf7of]hgf agfpFbf s:tf z}lIfs ;fdu|L k|of]u ug'{ pko'Qm x'G5 < 

(A) kf7\oj:t'sf] wf/0ffnfO{ :ki6 kf/L l;sfO lqmofsnfknfO{ a9L ?rLk"0f{ / k|efjsf/L agfpg ;3fpg] . 

(B) ;se/ d"No gkg]{ jf sd d"No kg]{ :yfgLo vfnsf z}lIfs ;fdu|L k|of]u ug]{ 

(C) afnaflnsfsf] :t/cg';f/ kf7sf] p2]Zo k|fKt ug{ ;3fpg] . 

(D) dflysf ;a} 

@(= afnaflnsf x?df Jofjxfl/s Pjd\ hLjgf]kof]uL lzIff, l;k cfh{g ug]{ / k|ltef k|:km'6gsf] ;Defjgf 

/xg] ePsfn] lzIf0f l;sfO lqmofsnfk ;~rfng ubf{ s:tf] ljlw ckgfpg' kb{5 < 

(A) ;xof]uL lzIf0f ljlw 

(B) lzIfs s]lGb|t ljlw 

(C) ljBfyL{ s]lGb|t tyf afnd}qL ljlw 

(D) JofVofg / k|Zgf]Q/ ljlw 

#)= d"Nofª\sgsf ;fwgx? ;~rfng ug{, k/LIf0f ug{, cª\sg ug{ ;lsg] tyf k/LIffsf] kl/0ffdsf] JofVof, 

ljZn]if0f / k|of]u ug{ ;lsg] lsl;dsf x'g'kb{5 . of] d"Nofª\sgsf] s'g u'0f;Fu ;DalGwt 5 < 

(A) j:t'lgi7tf 

(B) Jofkstf 

(C) Jofjxfl/stf 

(D) lje]lbs/0f 

#!= lzIf0f l;sfOsf] qmddf sIffsf]7fleq lzIfsnfO{ lzIf0f ug{ tyf ljBfyL{x?nfO{ l;Sgsf] nflu pko'Qm 

jftfj/0f ;[hgf ug]{ k|lqmof tnsf dWo] s'g xf] < 

(A) z}lIfs ;fdu|Lsf] lgdf{0f tyf k|of]u 

(B) cGt/lqmofTds lzIf0f Joj:yf 

(C) sIffsf]7f Joj:yfkg 

(D) lzIf0f ljlwsf] 5gf]6 / k|of]u 

#@= g]kfndf slxn] b]lv lzIfs x'gsf nflu tflndsf] Joj:yf clgjfo{ ul/Psf] xf] < 

(A) lzIfs ;]jf cfof]u lgodfjnL, @)%& kZrft\ 

(B) /fli6«o lzIff k4ltsf] of]hgf, @)@* sf] dWofjlw d"Nofª\sg kZrft\ 

(C) lzIff P]g, @)@* hf/L ePkZrft\ 

(D) /fli6«o lzIff of]hgf cfof]usf] k|ltj]bg, @)!! kZrft\ 

##= tn lbOPcg';f/ gePsf] -vfnL :yfgdf_ s'g rflxF ljsNk pko'{St x'G5, /f]Hg'xf];\ .  

  
 

(A) 2  

(B) 3  

(C) 4  

(D) 5 

33.

6

25

100 100

25

5

25

25 81

36

4

25

25 25

25

?

49

36 9

16
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#$=  tn lbOPsf] k|Zgdf tLg nx/ / tLgj6} nx/df tLg÷tLg j6f sf]7fx¿ u/L hDdf ( ;lrq sf]7fx¿ 

qmda4 ¿kdf /x]sf 5g\ . A, B, C, D dWo] afof“ lrqsf] vfnL sf]7f -< ePsf]_ sf] qmd k"/f ug{ ;Sg] 

ljsNk /f]Hg'xf];\ . 

 

           a b c d 

35. Which one of the following numbers is exactly divisible by 11?  

(A) 235641  

(B) 245642  

(C) 315624  

(D) 415624 

36. A sport jacket  marked $ 48 is offered at a discount  of 25% during a stock out sales. 

At this reduced price the dealer makes a profit of 20% on the cost. The cost to the 

dealer is   

(A) $29  

(B) $ 30  

(C) $ 32  

(D) $ 36 

37. Today is the birthday of  Rahul and he is 3 times old as Nirmala. In 13 years, Rahula 

will be one year less than twice as old as Nirmala will be then. What is the age of 

Rahula today?  

(A) 12 years   

(B) 24 years   

(C) 36 years   

(D) 48 years  

38. 47 : 2209 

(A) 53 : 1202  

(B) 61 : 2613   

(C) 49 : 2401  

(D) 57 : 1663 

39.  (454, 463, 492) 

(A) (358., 362, 394)  

(B) (256, 265, 294)  

(C) (6256, 637, 648) 

(D) (878, 882, 891) 

Study the following table and answer the questions. 

Classification of 100 Students Based on the Marks Obtained by them 

In Paper I and Paper II in an Examination. 

Subject Marks out of 50 

 40 and  

above 

30 and  

above 

20 and  

above 

10 and  

above 

0 and  

above 

Paper I 9 32 80 92 100 

Paper II 4 21 66 81 100 

Average 

(Aggregate) 

7 27 73 87 100 
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40. What is the different between the number of students passed with 30 as cut-off marks 

in Paper II and those passed with 30 as cut-off marks in aggregate?  

(A) 3   

(B) 4  

(C) 5   

(D) 6 

$!= ljBfyL{sf] dfs{l;6 tof/ kfg{ s'g PlKns];g ;km\6j]o/ k|of]u ul/G5 < 

(A) Ms-Word 

(B) Ms-Powerpoint 

(C) Ms-Excel 

(D) Typing tutor software 

42. Which of the following in used for manufacturing chips ? 

(A) Control bus 

(B) Control unit 

(C) Parity unit 

(D) Semiconductor 

$#= lzIfs l;sfO k|lqmofdf ;"rgf tyf ;~rf/ k|ljlwsf] k|of]u u/L u'0f:t/Lo lzIffdf clej[l4 ug]{ 

lhDd]jf/L s;sf] xf] < 

(A) ljBfno 

(B) ;|f]t s]Gb| 

(C) lhNnf lzIff clwsf/L 

(D) lzIff ljefu 

$$= lzIffdf ;'rgf tyf ;~rf/ k|ljlw k|of]u lgb]{zs ;ldltsf] cWoIf sf] /xg] Joj:yf 5 < 

(A) ;'rgf tyf ;~rf/ dGqL 

(B) /fli6«o of]hgf cfof]usf] pkfWoIf 

(C) /fli6«o of]hgf cfof]usf] ;b:o -lzIff x]g]{_ 

(D) /fli6«o ;"rgf cfof]usf] cWoIf 

$%= ljB'lto sf/f]jf/ P]g, @)^# cg';f/ s'g} s;'/ ug{ ;3fpg] jf cGo s'g} Joxf]/fsf] dltof/ eO{ sfo{ ug]{ 

JolQmnfO{ d'Vo s;'/bf/nfO{ ePsf] ================ 

(A) k"/f 

(B) cfwf 

(C) ;hfo x'Fb}g 

(D) a9L ;hfo x'G5 < 

$^= g]kfnsf] ;+ljwfgsf] wf/f %-!_ df g]kfnsf] :jtGqtf, ;fj{ef}d;Qf, ef}uf]lns cv08tf, /fli6«otf, 

:jflwgtf, :jfledfg, g]kfnLsf] xslxtsf] /Iff, l;dfgfsf] ;'/Iff, cfly{s ;d'Gglt / ;d[l4nfO{ s] egL 

kl/eflift ul/Psf] 5 < 

(A) /fHosf] lgb]{zs l;4fGt 

(B) /fli6«o lxtsf cfwf/e"t ljifo 

(C) /fHosf] bfloTj 

(D) /fHosf] k|d'v p2]Zo 

$&= lzIff P]g, @)@* -;+zf]wg ;lxt_ df ufFp jf gu/ lzIff ;ldltsf] cWoIfdf sf] /xg] Joj:yf ul/Psf] 5 < 

(A) ufpFkflnsf÷gu/kflnsf If]qleq ;~rflnt ljBfnosf ljBfno Joj:yfkg ;ldltsf 

cWoIfx?dWo]af6 lhNnf lzIff ;ldltn] dgf]lgt u/]sf] JolQm 

(B) ufFpkflnsf jf gu/kflnsf If]qleq ;~rflnt ;d'bflos ljBfnox? dWo] lhNnf lzIff clwsf/Ln] 

tf]s]sf] pRrtd txsf] ljBfnosf] k|wfgfWofks 

(C) ufpFkflnsf jf gu/kflnsfsf] ;lrj 

(D) ufpFkflnsf jf gu/kflnsfsf] cWoIf jf ;f] sfd ug{ tf]lsPsf] JolQm 
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$*= ljBfnosf] sfdsf] l;nl;nfdf s'g} lzIfssf] d[To' ePdf lghsf] kl/jf/ jf ;Gtltn] kfpg] j[lQ 

;DalGwdf l;kmfl/; ug{ lhNnf:t/df /xg] j[lQ ljsf; ;ldltsf] cWoIfdf sf] /xg] Joj:yf 5 < 

(A) lhNnf lzIff clwsf/L 

(B) k|d'v lhNnf clwsf/L 

(C) lhNnf k|x/L sfof{nosf] k|d'v 

(D) lhNnf hg:jf:Yo sfof{nosf] k|d'v 

$(= lzIfs ;]jf nfO{ ;dfj]zL agfpg ;fd'bflos ljBfnodf g]kfn ;/sf/af6 :jLs[t b/aGbLdf v'nf 

k|ltof]lutf4f/f kbk"lt{ x'g] lzIfs b/aGbL dWo] $% k|ltzt kb ;dfj]zL ;d"xsf nflu 5'6\ofOPsf]df ;f]sf] 

slt k|ltzt kb cflbjf;L÷hghfltsf nflu 5'6\ofOPsf] 5 < 

(A) ( k|ltzt 

(B) @@ k|ltzt 

(C) @& k|ltzt 

(D) ## k|ltzt 

%)= :yfgLo ;/sf/ ;~rfng P]g, @)&$ lsg nfu" ul/Psf] xf] < 

(A) :yfgLo txsf] clwsf/ ;DaGwL Joj:yf sfof{Gjog ug{ 

(B) ;+3, k|b]z / :yfgLo txsf] ;xsfl/tf, ;xcl:tTj / ;dGjonfO{ k|j4{g ug{ 

(C) hg;xeflutf, pQ/bfloTj, kf/blz{tf ;'lglZrt u/L ;'ne / u'0f:t/Lo ;]jf k|jfx ug{ 

(D) dflysf ;a} 

 

;dfKt 
;kmntfsf] z'esfdgf 

 

 

pQ/s'l~hsf 
1 C 2 C 3 D 4 C 5 A 

6 D 7 D 8 B 9 D 10 D 

11 B 12 C 13 A 14 B 15 C 

16 B 17 A 18 A 19 B 20 A 

21 A 22 C 23 C 24 B 25 B 

26 B 27 A 28 D 29 C 30 C 

31 C 32 A 33 C 34 D 35 D 

36 B 37 A 38 C 39 B 40 D 

41 C 42 D 43 B 44 C 45 C 

46 B 47 D 48 B 49 C 50 D 

 

 


